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e = 52

1.

accel.

Viool I

Viool II

Altviool

Cello





 
ff

pizz.

fff

  
col legno

    
arco

f
 

pp

 
pizz.

ppp

  
arco

p

 

  
fff

col legno      
pizz.

f

  arco



   

pp

  

pizz.

ppp
 

arco

pp

  

  
f

pizz.

 
ppp

 
arco

pp

 
p

  

  col legno

fff

   pizz.

ff
   

ppp
 

  arco

pp p
   

6 q=83




       
pp

    

   
ff

col legno


      

pp

   

  
ppp

sul pont....................................................  



 col legno

ff

   
 

ppp
sul pont.............................................................

 
       
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10 poco rit. q=58




      
pp

     

   
 


  

pp

  

ppp

   

          

       
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







h = 80

2.





   
ppp

sul pont.............................................          
pp


  

p

  

   
ppp

sul pont............................................          
p

  

   
ppp

sul pont............................................

  
     

   
p

  


ppp

pizz.


 

 
 

  
 

 
 

  
 

 
 

  
 

 
  

  
 

  
 

 
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



    
pp

    

  

    
pizz.

pp
       

    
pizz.

pp

    



  

  
  

  

   

arco

ff

    
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molto rit.
25

h=52 tempo h=80 poco accel.





  
f

   
mf

   
p

 

     

pp

      
mf



             
mp

 

      
p

      
mp

 

  
pp
      

31 h=96






  

f

   
   


   

   
 


   

ff

   

   

fff

   
  

     
fff
      

     
fff

      

     
fff

      
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3.

rit. e=43 accel. rit. accel. rit. 




 
con sord.

pp

        
ppp

        
pp
   

 
con sord.

pp

        
ppp
         

   
con sord.

pp

  
 


    

 

 
con sord.

pp

   
ppp


       
pp
    

      

e=43

43

rit. e=39 rit. e=37 Tempo primo
e=53





  
 


 

ppp

  
pizz.   

  
  

arco     
 

  
pp

  
ppp

    pizz.      
   

ppp


  

   
ppp


pizz.   sul pont.

arco

   
  

      
ppp

            
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e = 54

4.
rit. tempo rit. 





 
sul pont..................
con sord.

ppp



   


   

pizz. 
sul pont...............
arco

pp
 

ppp
  

sul pont......................

    

 
ppp

con sord.
sul pont.................




  

   
pizz.

   

   
con sord.

ppp

       
sul pont.......................

    

 
con sord.

ppp

         
sul pont..................................................

pp

  
ppp
    

tempo
56

temporit. temporit. 





  
      perdendosi    

    
 

  
sul pont......................................................
arco

    
  

   
sul pont.   

pizz.     

    
    

sul pont.   
pizz.  
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     

 








 

sul pont.

   
pizz.

  

7


